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Total Number of Sheets Used: 1 'fotal Number of Questions: 9

Title of the Paper: Programming l:undanlentals through c Language (PGDCA-103)

Maximum Marks: 70 Minimum Pass Marks: 357u

Note: Candicjates are requirecl to attempt five qr-restions in all. selecting trvo questions each fi'om

seclions A and B and entirc section C '

ur(ai is u,-,,ip.rrtnr? triplain the arirhmetic. relati.,al. togical- and assistrnrent

operators in C languagc.

fxptain tt,e ur. of t r*f. u,',J .ortin,.lc stateltlcnt i' loops u'ith exarnple .

What are the ciitlercrrces between r'r'hile qid do rvlllt tqn:qqq!]Q2. (a)

WG;apr"g."- t" pr*t tne follou,ing output using nested loops.

:lx*
,l<*>l**

**'i.***

\\'hat are the variolts clata types available in C language'? Discuss conclitional

statements rvith suitable c [e prosran] o1-each.

iVnili -ni"f U.pf ain how tl.r. t,te op-, and tlle closc tunctions handled irr C '

lain the o1'nassing arrav to lirnctions.
Q5 (a)

u,i:ir. a f,'irgrant i,i i r..r..,,,.itL-l]ate t\\'o strings using pointers'

\\'rite a ptngra,, in (. to nlLrltiply'two -l-[) Ilatt'ices'

Wt,it is i ieli--ref'erential iirLritLriles'l t-.iprain u'ith suitable e-rarrples'

Wfrit irif,r. ioi.ioit,rodulus operrtor in C'l Does it u'orl< for flotrting-point

n Lrrnhers?

What are the limitations of union?

Write an1' two advantages o1'pclinters.

Give the futtctions o{'sizeol operator.

What is recursion'J Ilorv it is difltrcnt tl'om itelation"

Give an examplc o{'l'utrction returning poirttr-'r'

Wh,v- therc is a rreed olstructure initialization?

F{ou' do }'ou pass paramelers to main0 function'l

What is the need fbr tirnctiorls'l
What is escape sequence fbr Null ch?Iagleli-
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Section - B
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